1
x2 – 2x + 1			Ms. Tallent
x3 – x2 – 5x + 3		Mr. Little
[bookmark: _GoBack]x3 – 3					Ms. Poe
x3 – 7x2 + 6x + 1		Mr. Cromwell

2
         	Walgreens
        	 McDonalds
        	 Burger King
                  	 Panera

3
3x(x4 + 9x)				Blue
x2(x3 + 27)				Pink
x2(x + 3)(x2 – 3x + 9)	Green 
x2(x + 3)(x – 3)			Yellow


4
x = 2, -3				Hot Dog
x =     	T-shirt
x =    	Candy Bar
x =    	 	Hat

5
-1 and 0			red
0 and 1			blue
1 and 2			purple
2 and 3			orange


6
3 + 2i is a double root					cow
all roots are rational					dog
3 – 2i and 2 +  are also roots   	zebra
there are no other roots              elephant

7
can’t tell from the graph			snake
4 imaginary roots					lizards
2 real and 2 imaginary roots		turtle
4 real roots							bat

8
3 distinct real roots		Rupp Arena
3 real roots (1 repeated)	Ashland Estate
1 real and 2 imaginary roots	
John Calipari’s House
3 imaginary roots		The Movie Tavern

